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Model 2 — Meiosis IT Model 3 — Gametogenesis and Fertilization (Human)

. Males Females
Secondary Secondary oocyte
spermatocyte (end of melosis T)
(end of meiosis I) a

Oocyte proceeds
to meiosis II

Two cells from

Meiosis [ in Metaphase II Anaphase II Telophase II Spermatids Polar body
Prophase IT (end of eventually
meiosis I[) degenerates
Mature Zygote with half its
sperm S chromosmes from
the female (maternal)
and half from the
male (paternal)

11. According to Model 2, where did each of the cells come from that started meiosis IT?

12. In meiosis I, during anaphase I, which structures separated—homologous chromosomes or sister
ids?
chromatids? 16. According to Model 3, what is the name given to the cells produced at the end of meiosis I in
males?
13. In meiosis I1, during anaphase II, which structures separated—homologous chromosomes or
sister chromatids? 3 )
17. What is the name given to the cells produced at the end of meiosis I in females?

14. At the end of the meiosis IT are four daughter cells. Are they haploid or diploid? Explain your
answer in a complete sentence. 18. Refer to Model 3.

a. At the end of meiosis II in males, what cells are produced?

15. Which of the statements below correctly describes the relationship berween the cells at the end of b. What do these cells (from the previous question) eventually become?
meiosis IT and the original cell?

a. The new cells have one copy of all of the genetic information in the original cell. 19. Before fertilization, what happens to the secondary oocyte?
b. The new cells have two copies of all of the genetic information in the original cell.

¢. The new cells have one copy of half of the genetic information in the original cell.

20. During fertilization which two cells together? Be specific i 3
d. The new cells have two copies of half of the genetic information in the original cell. g © 6T come fogethiers e speaticin your answer
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